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Q. Confirm that if Hydro's sales to Industrial Customers are higher than test year 1 

forecast: (i) the increased energy cost is greater than the increased revenue 2 

from energy sales (i.e., net loss); and, (ii) the net loss is currently charged to 3 

the Industrial Customer RSP. (Review of the Operation of the Rate 4 

Stabilization Plan Report, Section 3.3) 5 

 6 

 7 

A. Hydro confirms that if Hydro's sales to Industrial Customers are higher than 8 

test year forecast: (i) the increased energy cost is greater than the increased 9 

revenue from energy sales (i.e., net loss); and, (ii) the net loss is currently 10 

charged to the Industrial Customer RSP. 11 


